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142018 ¢ Choosing the correct word:
. ” 33 |1- cultural 2- ignored 3- cultural 4- limited 5- relationships I
xSl gz s 6- domestic 7- branches 8- homogeneous 9- political
322 e Fill in the spaces: )
3 |1-B 2-C 3-A 4-D 5-A 6-D i1
Al IS gz s
’ 7-C 8-A 9-D 10-B 11- A 12-D
1823 6 i e Column A & Column B: ,
36 it I
ol 0 gl 1—>2 et >3 |
216 ‘ e Choose the correct answer:
4,d 1-B 2-D 3-B 4- A v |
pucd] S ya
T 5-A 6- C 7-B 8-A
e Abbreviations:
el 10 i jite - (CIA: Central Intelligence Agency
Sbad>t JS3 4oy - CNN: Cable News Network v
- NATO: North Atlantic Treaty Organization
B e The five factors '""News Filters' are:
1- Media ownership ....
19 10 2- Advertisings as .....
25 VI |
Jole JSI oLy 3- Source of information is ...... o
4- "Falk" as a ......
5- Anti-communism as a .....
e The five variables for interventionist policy:
Sy 9 16 1- The clarity.... 2- The availability ....  3- The CNN effect. Vil |
4- The national .... 5- The Chances of ....
e The elements of news framing :
EY 21 VI
- News frames are constructed and .... 2 news narrative.
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